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Ellipse Information with center (h, k) (Circle has RISE = RUN)

Vertical Major Axis

Horizontal Major axis

Implicit equation (x _ h)2
+

(y=k) _,

RUN?

RISE®

x=RUNcost+h
y=RISEsint+k

Parametric equations

or variants of these

Major or Minor axis RISE > RUN 4
Vertices are V1, V> e
£

RUN > RISE

e,

Hyperbola Information with center (A, k) and vertices V1, 12

Axis through Vertices is Vertical

2

Axis through Vertices is Horizontal

(y=k) _ (x-h)

RISE? RUN’

x=RUNtan/+h
v=RISEsecl+k

x=RUNsect+h
y=RISEtant+k




